

Reminder • Signs same - subtract equations. • Signs different - add equations. Example 1 Solve, $4 \times + 2 \gamma = 2$ (1) -x + 3y = 3 (2) x 4 4 x + 2 y = 2 (1) $-4 \times + 12 y = 12$ (3) Signs of x are different, so add : (1) + (3)14 y = 14 \Rightarrow <u>y</u> = 1 Substitute y = 1 into (2): -x + 3y = 3 \therefore - x + 3 (1) = 3 \Rightarrow -x + 3 = 3 -x = 0 \Rightarrow $\mathbf{x} = \mathbf{0}$ \Rightarrow $\mathbf{x} = \mathbf{0}, \mathbf{y} = \mathbf{1}$. .

•								
<u>Example 2</u>								
Solve,								
	2 x - y =	4	1 x 3					
	5 x + 3 y =	21	2					
	6 × - 3 y =	12	3					
	5 x + 3 y =	21	2					
Signs of y are different, so add : $(3) + (2)$								
	11 × =	33						
	\Rightarrow X =	3						
Substitute $x = 3$ into 1 :								
	$2 \times - \gamma =$	4						
	2 (3) - <mark>y</mark> =	4						
\Rightarrow	6 - y =	4						
\Rightarrow	- y =	- 2						
\Rightarrow	<u>y</u> =	2						
	x = 3, γ =	2						

	Questions							
So	Solve each of the following pairs of equations by elimination.							
а	x - 2y = 1	b	4x + 3y = 11	C	x - 5y = 13	d	2x + y = 10	
	2x + y = 7		x - y = 8		3x - y = -9		3x - 4y = 26	
e	a - 3b = 5	f	4p - q = 17	8	-2s + 5t = 2	h	3c - d = -3	
	5a + 2b = -9		3p - 2q = 19		4s - 3t = -22		2c + 4d = 5	

г

-10

	Answers							
So	Solve each of the following pairs of equations by elimination.							
а	x - 2y = 1 b $4x + 3$	y = 11	c $x - 5$	y = 13	d	2x + y = 10		
	$2x + y = 7 \qquad \qquad x - y =$	- 8	3x -	y = -9		3x - 4y = 26		
e	$a - 3b = 5 \qquad \mathbf{f} 4p - q$	= 17	g −2 <i>s</i> +	-5t = 2	h	3c - d = -3		
	$5a + 2b = -9 \qquad 3p - 2$	<i>q</i> = 19	4s -	3t = -22		2c + 4d = 5		
	а	x = 3,	<i>y</i> = 1					
b $x = 5, y = -3$								
	c $x = -\frac{29}{7}, y = -\frac{24}{7}$							
	d	x = 6,	y = -2					
	e	a = -	1, <i>b</i> = −2					
	f	<i>p</i> = 3,	q = -5					
	g	s =	$\frac{52}{7}, t = -\frac{18}{7}$					
	h	c = -	$\frac{1}{2}, d = \frac{3}{2}$					